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Taking the Wrong Path 

I am very keen on hill walking and often spend weekends walking and sometimes camping in remote parts of 

the country. I thought I was quite experienced and skillful but a few months ago something happened which 

made me feel a lot less confident. One Friday evening after finishing work I drove with three friends to a 

town about two hundred miles away. It was in the middle of an area which is famous for walking and 

climbing. We stayed the night in a bed-and-breakfast and set off early next morning. We drove a few miles 

and then parked the car and got ready. We were wearing walking boots, and anoraks and carried rucksacks 

in which we had waterproof clothing, food, flasks of hot coffee and things that we might need in an 

emergency such as a torch, whistle and first-aid-kit. Obviously, we had a map but we didn’t have the one 

thing which, as it turned out, we should have had- a compass.  

We set off along a well-defined track, feeling cheerful, confident and looking forward to a good day’s 

walking. The sun was up and as we walked along we soon began to sweat. It was a farm after about four 

kilometers, and sure enough, there it was, although the path went to the left of it rather than to the right, as 

indicated on the map. Confident that we were going the right way, we ignored this discrepancy. Soon the 

path forked and, following the map, we took the left fork. The path became less well-defined and soon 

petered out altogether. According to the map, the path continued for several more kilometers, but we 

ignored this discrepancy too. Things must have changed, we thought, since the map had been printed. The 

slope became steeper, the day hotter, our shirts stickier and we were bothered by flies but we trudged on.  

After about three hours we reached the summit of the hill and had a clear view of the countryside all 

around. We tried to compare what we could see with where we thought we were on the map, but we just 

couldn’t make sense of it. We were confident that we had taken the right path but finally we had to admit 

that we had gone wrong somewhere and were hopelessly lost. We decided to return to the car but it took a 

long time to work out the best way and we got lost again. We soon became fed up and anxious and started to 

quarrel and blame each other for what had happened. It was getting dark before we reached the car and we 

were panicking about the prospect of still being lost when night fell. It was only when we arrived at the car 

park that we realized that we had, right from the beginning, been heading in precisely the opposite direction 

from the one we should have taken.  
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A. Scan the text to find the answers to the following questions:  

1. On what day of the week did the walk begin?  

2. What did they carry with them?  

3. Were they suitably dressed?  

4. At what point did the map indicate a possible problem?  

5. Why were they worried when they got to the top of the hill?  

6. How did the mood of the walkers change during the day?  

7. What were they most worried about?  

8. How long did the walk last?  

9. When did they first take the wrong path?  

10. Why does the writer mention that they had no compass?  

B. Find the word or phrase in the text which is similar in meaning to:  

Paragraph 1  

1. enthusiastic about  

2. far-away  

Paragraph 2  

3. clearly visible  

4. perspire  

5. as we expected  

6. split  

7. side of the hill  

8. annoyed  

9. walked in a tired way  

    Paragraph 3  

10. argue  
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C. Explain the meaning of these phrasal verbs as used in the text.  

Paragraph 1  

1. set off  

2. turned out  

Paragraph 2  

3. petered out  

Paragraph 3 

4. work out  

Further Reading 

Sister Wendy, TV Star!  

Sister Wendy Beckett has been a nun for nearly 50 years, since she was 16. Most of the time she lives in 

solitary confinement in a caravan in the grounds of a Carmelite monastery in Norfolk, often not speaking to 

anyone for 22 hours a day. But every few months she leaves her caravan and travels round Europe, staying 

in international hotels and eating in famous restaurants. Why is she leading this double life? How does a nun 

who has devoted her life to solitude and prayer become a visitor to the Ritz?  

Sister Wendy has a remarkable other life. She writes and presents an art program for BBC television called 

“Sister Wendy’s Grand Tour”. In it, she visits European art capitals and gives her personal opinions on 

some of the world’s most famous works of art. She begins each program with these words: “for over 20 

years I lived in solitude. Now I’m seeing Europe for the first time. I’m visiting the world’s most famous art 

treasures”.   

She speaks clearly and plainly, with none of the academic verbosity of art historians. TV viewers love her 

common-sense wisdom, and are fascinated to watch a kind, elderly nun who is so obviously delighted by all 

she sees. They are infected by her enthusiasm. Sister Wendy believes that although God wants her to have a 

life of prayer and solitary contemplation, he has also given her a mission to explain art in a simple manner to 

ordinary people. She says: “I think God has been very good to me. Really I am a disaster as a person. 
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Solitude is right for me because I’m not good at being with other people. But of course I enjoy going on tour. 

I have a comfortable bed, a nice bath and good meals, but the joy is mild compared with the joy of solitude 

and silent prayer. I always rush back to my caravan. People find this hard to understand. I have never 

wanted anything else; I am a happy woman.”  

Sister Wendy’s love of God and art is matched only by her love of good food and drink. She takes delight in 

poring over menus, wondering whether the steak is tender enough for her to eat because she has no back 

teeth. However, she is not delighted by her performance on television.  

“I can’t bear to watch myself on television. I feel that I look so silly, a ridiculous black-clothed figure. Thank 

God we don’t have a television at the monastery. I suppose I am famous in a way, but as 95% of my time is 

spent alone in my caravan, it really doesn’t affect me. I’m unimportant.”  

Sister Wendy earned £ 1,200 for the first series. The success of this resulted in an increase for the second 

series. The money is being used to provide new shower rooms for the Carmelite monastery.  

Comprehension Check  

1. What do these numbers in the text refer to?  

       16             22         20      95%          1,200  

2. Are the following statements true (  ) or false (  )?  

Correct the false ones.  

a. Sister Wendy spends a lot of time alone.  

b. She travels to art capitals all over the world.  

c. Her television programs are popular because she meets famous art historians and interviews them.  

d. She believes that God wants her to lead this double life.  

e. She doesn’t enjoy being alone in her caravan anymore.  

f. She only eats plain food.  

g. Some of her teeth are missing.  

h. She loves watching herself on television.  

i. Sister Wendy is using the money she has earned to improve the monastery.   
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Part A: Grammar 

Directions: Questions 1-10 are incomplete sentences. Beneath each sentence you will see four words or phrases, marked (1,2,3), 
and (4). Choose the one word or phrase that best completes the sentence, then mark the correct choice on your answer sheet. 
 

1- I told … paint that room, and now look what’s happened; the paint has dripped all over the place and the 
color clashes with the furniture. 
1) she not to 2) you not to 3) her don’t 4) you don’t 

2- She … that she would come to my house the following week.  
1) has promised 2) promises 3) promised 4) will promise 

3- I remember … London for the first time. It is a beautiful city.    
1) visit 2) to visit 3) visiting  4) visited 

4- Mary asked him … her and he agreed. 
1) that he helped  2) if he could help 
3) that he could help  4) if he had helped 

5- Don’t … your teenage son to decide on his own. 
1) let  2) avoid   3) stop   4) allow 

6- “Will you accept my proposal?”, I asked her. 
I wondered … my proposal. 
1) that she would accept 2) that if she would accept 
3) whether or not she would accept 4) whether she would accept or not 

7- I … on the left because I’ve lived in England for a long time.   
1) am used to driving  2) am used to drive 
3) used to driving  4) used to drive 

8- You must try … . 
1) to make him to understand 2) to make him understand 
3) making him to understand 4) make him understand 

9- Sarah regrets … Jane … her homework. Now she is worried that she will get quite a low grade in today’s quiz. 
1) to persuade/ to do  2) to persuade/ doing  
3) persuading/ doing  4) persuading/ to do 

10- “Don’t leave your car unlocked”,  said my parents. 
My parents warned me … my car unlocked. 

1) to leave   2) to not leave   
3) not to leave   4) not leaving 

 

 
 

Part B: Vocabulary  
Directions: Questions 11-25 are incomplete sentences. Beneath each sentence you will see four words or phrases, marked (1,2,3) 
and (4). Choose the one word or phrase that best completes the sentence, then mark the correct choice on your answer sheet. 
 

 

11- Railroads carry people through the whole … of this country nowadays. 
1) situation 2) extreme 3) extent 4) position 

12- The law is very strict and failure to … it can lead to a large fine.  
1) obey  2) ignore  3) concern  4) combine 

13- He offered to purchase the land for the … of 80,000 dollars. 
1) fact 2) sum 3) field 4) score  

14- The audience will pay as much attention to your voice as to the … of your speech. 
1) fame 2) content  3) delight 4) aid 

15- Public … of the recent environmental issue has made the factory comply with the environmental regulations.   
1) revolution   2) awareness 3) admiration   4) permission 

16- The newly employed clerk hasn’t been fully oriented under which … he should file the meeting reports. 
1) stage 2) category 3) level   4) rank 

17- The children liked the comedy a lot and watched it in … .  
1) integration  2) correction  3) fascination  4) destination  

18- After a long trip, you can … yourself with a shower and a long sleep, and the next day you will be the same 
person without any feeling of tiredness. 

1) avoid 2) refresh  3) discriminate 4) sacrifice  

 زبان تخصصي
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19- His first … in life has been to find an opportunity to attend the Olympic Games. 
1) merchant 2) opponent  3) popularity 4) priority  

20- It is estimated that the new factory will generate five hundred new jobs. The underlined word means … . 
1) perceive 2) create  3) perform 4) confirm  

21- Factory–made goods are plentiful in the market, but farm products are … found.  
1) firmly  2) scarcely  3) urbanely  4) vacantly 

22- The atmosphere at our school was highly … . The students did their best to keep up with one another. 
1) conductive  2) restrictive 3) competitive    4) primitive 

23- The first person I … in the company was Jack whom I found a funny and kind person and now he is my best 
friend. 
1) rescued   2) encountered 3) collocated  4) denied 

24- Some neck injuries cause total loss of … below the point of injury. 
1) speech 2) emotion  3) vision 4) mobility  

25- The meat has been certified as fit for human … . 
1) confusion 2) consumption  3) conception 4) concession  

 

Part C: Word Order  
Directions: Choose the sentence with the best order for each of the following series, then mark the correct choice on your answer 
sheet.  

 

26-  
1) The archaeologists were astonished finding such incredibly beautiful artifact at that particular site. 
2) The archaeologists astonished to find so incredible beautiful artifact at that particular site. 
3) The archaeologists were astonished to find such an incredibly beautiful artifact at that particular site. 
4) The archaeologists were astonishing finding so incredibly beautiful artifact at that particular site. 

27-  
1) Nitrogen gas, made up about 78 percent of our atmosphere, is using plants and animals constantly. 
2) It is constantly used by plants and animals, nitrogen gas which is made up about 78 percent of our atmosphere. 
3) Nitrogen gas, which makes up about 78 percent of our atmosphere, is constantly used by plants and animals. 
4) Nitrogen gas is constantly used by plants and animals, which it makes 78 percent of our atmosphere. 

28-  
1) Mr. Washburn and his daughter checked how many people they had met. 
2) Mr. Washburn and his daughter checked how many people had they met. 
3) How many people Mr. Washburn and his daughter had met and checked. 
4) How many people had Mr. Washburn and his daughter met and checked. 

29-  
on / is / two / would like / with / to / someone / line / who / speak / you / there  
1) Someone is there on line two who would like with you to speak.  
2) There is someone with who would like speak to you on line two.  
3) There on line two someone is who would like to speak with you.  
4) There is someone on line two who would like to speak with you.  

30-  
1) Wind erode the land by picking up grains of sand and hurling it against rocks. 
2) Wind erodes the land by pick up grains of sand and hurl them against rocks. 
3) Wind erodes the land by picking up grains of sand and hurling them against rocks. 
4) Wind erodes the land by picking up grains of sand and hurling it against rock. 

 

Part D: Language Function 
Directions: Read the following conversations between two people and answer the questions about the conversations by choosing 
one of the choices (1,2,3) or (4). Then mark the correct choice on your answer sheet. 
 

We took a lot of photographs because it was such a beautiful day. As I …(31)… the  corner, I …(32)… a 
glimpse of the house through the trees. A long …(33)… beach …(34)… for miles in front of us. Unfortunately, 
the new hotel …(35)… the view of the castle. 
31- 1) got 2) turned  3) returned  4) gained 
32- 1) made 2) took  3) did  4) hit 
33- 1) sanded 2) sandy  3) prosperous  4) pure 
34- 1) ran 2) reached  3) lengthened  4) stretched 
35- 1) stopped 2) blocked  3) jammed  4) ended 
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A:Guess what? John’s been feeling …(36)… since last week. 
B: Really? He should have cared about it. 

A: Yeah, the doctor prescribed him a complete rest to …(37)… . 
36- 1) under the weather  2) on top of the world 

3) as right as rain  4) uplifted 

37- 1) recharge his batteries 2) make ends meet  
3) flip out  4) get his back up 

A: How are you going to the airport? 
B: Jim will …(38)… to the airport. 

A: Impossible! He’s ill, he’s been …(39)… all day. 

B: He’s taking a hot bath. It’ll …(40)… and he’ll be OK. 
38- 1) take after me 2) give me a lift 3) give me a break 4) take me in 

39- 1) suffering pain 2) playing the goat 3) running a bath 4) finding his way 
40- 1) alleviate the pain 2) put him down 3) give him a ring 4) cause pain 
 

Part E: Cloze Test  

Directions: Read the following passage and decide which choice (1,2,3) or (4) best fits each space. Then mark the correct choice on 

your answer sheet. 
 

Approximately 5.5 trillion cigarettes are produced …(41)… each year and are smoked by over 1.1 billion 
people or greater than one-sixth of the world population. While smoking rates have leveled off or …(42)… in 

developed nations, they continue to rise in developing parts of the world. 

Tobacco-related diseases are some of the biggest killers in the world today and …(43)… as one of the biggest 
causes of …(44)… death in industrial countries. In the United States some 500,000 deaths per year are 

attributed to smoking-related diseases and a recent study …(45)… that as much as 1/3 of China’s male 
population will have significantly shortened lifespans …(46)… smoking. 

In many parts of the world tobacco …(47)… has been outlawed. In Canada, the store display of cigarettes is 
completely prohibited …(48)… persons under the legal age of consumption have …(49)… to the places. A 

common concern is to discourage smoking among …(50)… and many countries have passed laws against selling 

tobacco …(51)… to underage customers. 
In some countries, …(52)… are not allowed to smoke in indoor public places, such as restaurants. The idea 

…(53)… this is to discourage smoking by making it more …(54)… and to stop harmful smoke being …(55)… in 
enclosed public spaces. 
41- 1) basically 2) globally 3) interchangeably 4) nationally 
42- 1) declined  2) raised 3) declared  4) ratified 

43- 1) are preached  2) are citing 3) are preaching  4) are cited 

44- 1) artificial  2) premature 3) amateur  4) professional 
45- 1) denied 2) comprehended 3) estimated  4) suspended 

46- 1) instead of   2) according to 3) due to  4) in spite of 
47- 1) advertising  2) ignoring 3) forbidding  4) banning 

48- 1) since  2) otherwise 3) so that  4) if 

49- 1) faith 2) destiny 3) access  4) destination 
50- 1) ministers  2) minors  3) monsters  4) mirrors 

51- 1) products  2) licenses 3) warnings  4) documents 
52- 1) substitutes  2) substances 3) instruments  4) individuals 

53- 1) behind  2) beside 3) below  4) besides 
54- 1) incredible  2) unbelievable 3) inconvenient  4) unconditional 

55- 1) present  2) precious 3) predictable  4) private 
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Part F: Reading Comprehension  
Directions: In this part of the test, you will read three passages. Answer the questions about the passages by choosing the best choice 
(1,2,3) or (4). Then mark the correct choice on your answer sheet. 
 

 

PASSAGE 1 

Complete silence is found only in laboratories called anechoic rooms. The walls and ceilings, made of blocks of 

special sound-absorbing materials, are more than three feet thick, while floor coverings are six-foot layers of 

feathers or cotton wool. Silence here can be as painful to the ears as the din of a steelworks or rocket blast-off, 

yet scientists become accustomed to this and stay in these silent rooms for hours at a time, using microphones 

and electronic equipment to test the various sound-absorbing materials being developed to make the world a less 

noisy place. Architects have used scientific discoveries to solve noise problems in a number of ways. Walls are 

hollowed and then filled with sound-absorbing materials resembling cotton wool. Extra thick carpets cover the 

floors, and thick woolen curtains cover the windows. Air conditioning and heating ducts are less noisy by having 

the air passing through their filters through hundreds of tiny holes in baffles made of sheets of sound-absorbing 

materials. 

Unfortunately, these techniques and others often work too well in some buildings. Noiseproof rooms become 

almost anechoic and people living in them are disturbed by the lack of sound. One way of handling this problem 

is to use what architects call “sound perfume”: artificial noise is piped to rooms through small loudspeakers. 

56- Scientists use anechoic rooms for… .  

1) measuring noise level of steelworks 2) measuring the blocks of feathers  

3) testing sound-absorbing materials 4) testing electronic equipment 

57- The baffles in this passage are made of … .  

1) sound-absorbing materials placed in air vents 2) tiny holes punched in filters 

3) woolen curtains hung over windows 4) thick carpets laid on floors 

58- The use of sound perfume proves that … .  

1) scientists’ inventions are rarely practical  

2) architects are concerned with people as well as buildings  

3) people are never happy with what they have 

4) suffering in silence is a virtue 

59- For most people complete silence can be …  .  

1) restful    2) disturbing 3) frightening 4) bearable 

60- This passage suggests that …  .  

1) loudspeakers are as important as soundproofing materials  

2) anechoic rooms will be included in all new buildings 

3) scientific devices are sometimes too successful 

4) all of the above 

PASSAGE 2 

The Akashi Kaiyko Bridge in southern Japan is the world’s longest bridge. The Akashi Kaiyko Bridge spans 

the Akashi Strait, connecting Awaji Island to Kobe, an important industrial center. The bridge has a span of 

5973 feet (1991 meters), making it over 25% longer than its nearest competitor: the Humber Bridge in England. 

Strangely, there may be longer bridges in the world, but the Guinness Book of World Records measures the 

longest bridges according to their record-breaking spans.  
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The concrete pillars have to be tall enough to support the whole weight of the bridge. The pillars on the 

Akashi Kaiyko Bridge are 900 feet tall. These pillars had to be built to withstand not only huge waves but also 

high-speed winds, and possibly even violent earthquakes, which are not uncommon in the area. The bridge has 

survived one earthquake: its span was extended by more than 3 feet by the Kobe earthquake of 1995.  

The cables weigh 50,000 tons and have a diameter of almost four feet each. Each cable contains 290 hexagonal 

strands; each strand is composed of 127 steel wires. The total length of the wire used is more than 200,000 miles, 

enough to circle the Earth 7.5 times! 

The first plans to connect Kobe to Naruto via Awaji Island were voiced in 1955, but it took the government 

thirty years to decide to really build the bridge. The next three years were spent surveying the site and 

construction commenced in 1988. In designing the bridge, special consideration was given to its effect on the 

surroundings, great emphasis was placed on a “pleasing balance between light and shade” and also on the choice 

of the perfect color. 

The construction of the bridge was a very complicated and technologically draining process, which took ten 

years to complete. Casting concrete in 300 feet of water, installing special pilot ropes over the strait by 

helicopter, and finally stretching the gigantic steel cables surely wasn’t an easy job. Ten years after construction 

commenced in 1988, the bridge was finished and the six-lane highway finally opened to traffic. 

The bridge has made the transportation from island to island much easier, so in addition to breaking a 

record, the Akashi Kaiyko Bridge achieves the main goal of a bridge: to connect two places. 

61- The pillars had to be strong enough to hold out against all of the following EXCEPT: 

1) earthquakes 2) waves 3) winds 4) lava 

62- Why does the author mention “the Earth” in paragraph 3? 

1) to state the effects of the Earth’s rotation on the Akashi Kaiyko Bridge 

2) to emphasize the impressive length of the wires 

3) to exemplify another natural disaster threatening the bridge 

4) to admire the capability of the Japanese constructors 

63- In line 15, the word “commenced” is closest in meaning to … . 

1) underwent 2) extended 3) introduced 4) began 

64- According to the text, which of the following is NOT wrong? 

1) The bridge was built in 1955. 

2) The government immediately embarked on the construction project. 

3) The effects of the bridge on its surroundings was included in the design. 

4) The color of the bridge was of no importance to the architects. 

65- What does the word “draining” in line 18 mean? 

1) exhausting 2) damaging 3) conflicting 4) changing 
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PASSAGE 3 

Art experts have to be very cautious when buying paintings because deception is quite common in the art 

world. Overpainting is just one of the many problems facing art museum directors who are responsible for 

buying and evaluating works of art, who also have to be on guard for the false use of famous artists’ names, false 

copies, or even fragments of paintings sold as whole works of art. 

Overpainting, the most common problem, results from the fact that quite often older works of art have been 

extensively changed. When a painting is carefully restored or repaired according to the artist’s original design, 

it is called “inpainting,” but when the repairs change the work to make it more marketable or appear to be more 

valuable, it is “overpainting.” Modern science, however, now aids the buyers of works of art. Ultra-violet light 

and X-ray machines can detect these alterations. 

Another form of deception-but one that is less frequent-is putting the name of a famous artist on an inferior 

painting, a practice which occurred quite frequently in the 1920s and 1930s when the level of art scholarship was 

not very high in the United States and American buyers were easily fooled by European art dealers. 

In addition to these forms of deception, copies of famous paintings are sometimes sold as original works of art 

because some of the old masters painted a popular scene several times if it sold well or their students would copy 

their better works to practice style and technique. Furthermore, there are dealers who have been known to 

halve or quarter a painting because it is much more profitable for them to sell four small paintings than one 

large one. 

66- What is the main idea of this passage?     

1) Ultra-violet light and X-ray machines can detect the alterations made in a painting. 

2) Deception in the art world and its different ways 

3) Directors being responsible for buying works of art 

4) Overpainting is quite common in the art world. 

67- What is the meaning of “inpainting”? 

1) To paint something new in old paintings 

2) To change a painting to be more profitable 

3) To repair a painting according to the artist’s original design 

4) To paint a painting on a wall 

68- In 1920s and 1930s Americans were easily fooled by European art dealers because … . 

1) they lacked art knowledge 

2) the level of dealers’ job was high in the U.S. 

3) they did not care about the paintings being genuine 

4) they were foolish 

69- The word “cautious” in line 1 is closest in meaning to … . 

1) anxious   2) honest  3) proud 4) careful 

70- The underlined pronoun “it” refers to the painting of … . 

1) a copy  2) a style 3) a popular scene 4) a technique 
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   13  صفحه:  منحصراً زبانمنحصراً زبان  )شهريور 1(آزمون غيرحضوري آزمون غيرحضوري   

  
  

 
 

 
 (مسعود غايبي)  »2« ةگزين - 1

فعل متعدي است و بعد از آن مفعول مورد نياز است؛ در نتيجه،  ”tell“نكته: 
كه در آن ضمير فاعلي آمده است، نادرست است. در ضمن، در نقل » 1«گزينة 

را قبل از شكل  ”not to“قول امري غيرمستقيم، در صورت منفي بودن فعل امر، 
 (گرامر)  »).4«و » 3«هاي  بريم (دليل نادرستي گزينه يسادة فعل به كار م

 ----------------------------------------------  
 (بهروز مرادآبادي)  »3« ةگزين - 2

چه فعل گزارشي جملة  در تبديل نقل قول مستقيم به غيرمستقيم، چناننكته: 
 .كنند ها و قيود زمان غالباً تغيير مي غيرمستقيم گذشته باشد، زمان

زمان فعل  (the following week) دليل زمان جملة نقل شده و قيد آن به
 است شده ”said“ در واقع جايگزين “promised”گزارشي بايد گذشتة ساده باشد. 

  (گرامر)        .
 ----------------------------------------------  

 (نسرين خلفي)  »3« ةگزين - 3
گيرد، در  قرار مي ”remember“شد كه بعد از اگر تقدم زماني با فعلي بانكته: 
رود. اگر تقدم  كار مي به “فعل”ing + صورت اسم مصدر صورت آن فعل به اين

صورت مصدر  صورت فعل بعد از آن به باشد، در اين ”remember“زماني با فعل 
  (گرامر)                               رود. به كار مي ”to“با 

------------------ ----------------------------  
 زاده) (عليرضا يوسف  »2« ةگزين - 4

ساختار جمله، نقل قول پرسشي غيرمستقيم است، بنابراين از يكي از نكته: 
 بايد استفاده كرد. ”whether“و يا  ”if“هاي  دهنده ربط

زمان فعل در جملة اصلي حال ساده بوده است كه در جملة نقل قول پرسشي 
نيز در  ”can“مان گذشتة ساده تبديل شده است، بنابراين فعل غيرمستقيم به ز

  (گرامر)           شود. تبديل مي ”could“نقل قول غيرمستقيم به 
 ----------------------------------------------  

 فرد)(اميد يعقوبي  »4« ةگزين - 5
 ، بعد از فعل”to“فعل دوم به صورت مصدر بدون  ”let“بعد از فعل نكته: 

“avoid”  فعل دوم به صورت اسم مصدر + ing”بعد از فعل  “فعل ،“stop”  به
به معني  ”stop“فعل دوم به صورت اسم مصدر، بعد از فعل » ترك عملي«معني 

و  ”to“فعل دوم به صورت مصدر با » توقف عملي به منظور شروع عملي ديگر«
 رود.ار ميكبه ”to“فعل دوم به صورت مصدر با  ”allow“بعد از فعل 

  (گرامر) 
 ----------------------------------------------  

 (بهروز مرادآبادي)  »3« ةگزين - 6
شود  ساخته مي ”whether“و يا  ”if“نكته: نقل قول غيرمستقيم جملة سؤالي با 

در اين ساختار اشتباه است (دليل  ”that if“تركيب»). 1«(دليل نادرستي گزينة 
شد،  به آخر جمله برده مي ”or not“، »4«. اگر در گزينة »)2«نادرستي گزينة 

 (گرامر)    اين گزينه نيز صحيح بود. 

 زاده) (عليرضا يوسف  »1« ةگزين - 7
كار  به “+ فعل ”ingصورت اسم مصدر  فعل به ”be/get used to“بعد از نكته: 

را  آن رود و اين ساختار (در زمان حال) براي بيان كاري است كه عادت به انجام  مي
رود و براي  كار مي به ”to“صورت مصدر بدون  فعل به ”used to“داريم. بعد از 

را انجام دهيم ولي ديگر انجام   بيان عملي است كه قبلاً عادت داشتيم آن
نادرست » 4«كه زمان جمله حال است، بنابراين گزينة دهيم. با توجه به اين نمي

 (گرامر)       است.

 ------------------- ---------------------------  
 (مسعود غايبي)  »2« ةگزين - 8

و بعد از  ”to“كردن) فعل دوم به صورت مصدر با  (تلاش ”try“بعد از فعل نكته: 
(واداركردن، مجبوركردن) در حالت معلوم، فعل دوم به صورت  ”make“فعل 

  (گرامر)    رود.   به كار مي ”to“مصدر بدون 
------------------------- ---------------------  

 (مرجان شيخي)  »4« ةگزين - 9
(پشيمان بودن، متأسف بودن) براي اظهار پشيماني  ”regret“كه  نكته: در صورتي

 ”ing“در مورد عملي كه در گذشته اتفاق افتاده است، به كار رود، فعل بعد از آن 
ستفاده براي اعلام اخبار بد ا ”regret“گيرد (دقت كنيد كه هرگاه از فعل  مي

رود). در ضمن، بعد از فعل  به كار مي ”to“شود، فعل بعد از آن به صورت مصدر با 
“persuade”  (متقاعد كردن)، فعل دوم به صورت مصدر با“to” رود. به كار مي                   

 (گرامر)  

 ----------------------------------------------  
 زاده) (عليرضا يوسف  »3« ةگزين -10

فعل دوم به صورت مصدر  ”warn“در جملة نقل قول غيرمستقيم بعد از فعل كته: ن
استفاده » to”  + not“مصدر با «رود. در اين تست از مصدر منفي  كار مي به ”to“با 
    نادرست است.» 1«گزينة شود. با توجه به مفهوم جمله،  مي

 (گرامر)

 --------------------------------------------- -  
 (جواد مؤمني)  »3« ةگزين -11

آهن مردم را در تمام پهنة اين كشور حمل  امروزه خطوط راه«ترجمة جمله: 
  »كنند. مي
  نهايت ) بي2  ) وضعيت1
  (واژگان)  ) موقعيت4  ) پهنه، ميزان، مقدار3

 ----------------------------------------------  
 طلب) (ندا باران  »1« ةگزين -12

تواند منجر به  نون بسيار جدي است و عدم اطاعت از آن مياين قا«ترجمة جمله: 
  » جريمة زيادي شود.

  ) ناديده گرفتن 2  ) اطاعت كردن، پيروي كردن 1
  (واژگان)  ) تركيب كردن4  ) نگران كردن3

 ----------------------------------------------  
 (رضا كياسالار)  »2« ةگزين -13

  »دلار خريداري كند. 000/80ن را به مبلغ او پيشنهاد كرد زمي«ترجمة جمله: 
  ) مبلغ2  ) حقيقت1
  (واژگان)  ) امتياز، نمره 4  ) زمين، زمينه 3

  زبان تخصصيهاي تستي  سؤال   پاسخ

 زبان انگليسي تخصصي
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   14  صفحه:  منحصراً زبانمنحصراً زبان  )شهريور 1(آزمون غيرحضوري آزمون غيرحضوري   

 (علي شكوهي)  »2« ةگزين -14
مخاطبين همان اندازه كه به محتواي سخنراني شما توجه خواهند «ترجمة جمله: 

  »كرد، به صداي شما (نيز) توجه خواهند داشت.
  ) محتوا2  ) شهرت 1
  (واژگان)  ) كمك4  ت، خوشي) لذ3

 ----------------------------------------------  
 (عبدالرشيد شفيعي)  »2« ةگزين -15

آگاهي عمومي از مشكل زيست محيطي اخير، كارخانه را ملزم به «ترجمة جمله: 
  »تبعيت از قوانين زيست محيطي كرده است.

  ) آگاهي، هوشياري2  ) انقلاب1
 گان)(واژ  ) اجازه4  ) تحسين3

 ----------------------------------------------  
 (ميرحسين زاهدي)  »2« ةگزين -16

طور كامل (با اين  كارمندي كه به تازگي استخدام شده (هنوز) به«ترجمة جمله:  
هايِ جلسه را بايگاني  اي بايد گزارش  موضوع) آشنا نشده است كه تحت چه مقوله

  »كند.
  ) مقوله2  مرحله  )1
  (واژگان)  ) رتبه، درجه4  ) سطح3

 ----------------------------------------------  
 (شهاب اناري)  »3« ةگزين -17

دار خيلي خوششان آمد و با اشتياق آن را  ها از آن فيلم خنده بچه«ترجمة جمله:  
  » كردند. تماشا 

  تصحيح   )2  ) تلفيق 1
 (واژگان)  ) مقصد 4  ) علاقه، اشتياق 3

 --------------- -------------------------------  
 (جواد مؤمني)  »2« ةگزين -18

توانيد با دوش گرفتن و يك خواب  بعد از يك سفر طولاني، شما مي«ترجمة جمله: 
طولاني خستگي خودتان را دركنيد و روز بعد شما همان شخص خواهيد بود، بدون 

  »اينكه هيچ احساس خستگي بكنيد.
  دن) خستگي در كر2  ) اجتناب كردن1
  (واژگان)  ) قرباني كردن4  ) تبعيض قائل شدن 3

 ----------------------------------------------  
 (بهرام دستگيري)  »4« ةگزين -19

اولويت اول او در زندگي يافتن فرصتي براي شركت كردن در «ترجمة جمله: 
  »هاي المپيك بوده است. بازي

  ) رقيب2  ) تاجر1
  )(واژگان  ) اولويت4  ) محبوبيت3

 ----------------------------------------------  
 (عبدالرشيد شفيعي)  »2« ةگزين -20

شود كه كارخانة جديد پانصد شغل جديد ايجاد  تخمين زده مي«ترجمة جمله: 
(خلق  ”create“اي كه زير آن خط كشيده شده به معناي  خواهد كرد. كلمه

  »كردن، ايجادكردن) است.
    ايجاد كردن كردن، ) خلق2  ) درك كردن1
  (واژگان)  ) تأييد كردن4  ) انجام دادن، اجرا كردن3

 ----------------------------------------------  
 مقدم) (روزبه شهلايي  »2« ةگزين -21

اي در بازار فراوان هستند، اما محصولات كشاورزي  كالاهاي كارخانه«ترجمة جمله: 
  » شوند. ندرت يافت مي به
    ندرت  به )2  صورت محكم  ) به1
  (واژگان)  حالت خالي ) به4  صورت مبادي آداب ) به3

 (جواد مؤمني)  »3« ةگزين -22
آموزان نهايت تلاش  شدت رقابتي بود. دانش جو در مدرسة ما به«ترجمة جمله: 

  »كردند تا از ديگري عقب نمانند. خود را مي
    ) محدودكننده2  ) رسانا، هادي1
  ن)(واژگا  ) ابتدايي، اوليه4  ) رقابتي3

 ----------------------------------------------  
 (عبدالرشيد شفيعي)  »2« ةگزين -23

رو شدم، جك بود كه او را  اولين شخصي كه در شركت با او روبه«ترجمة جمله: 
  »شخصي شوخ و مهربان يافتم و اكنون او بهترين دوست من است.

  رو شدن، مواجه شدن ) روبه2  ) نجات دادن1
  (واژگان)  ) انكار كردن4  ، رديف كردن) تركيب كردن3

 ----------------------------------------------  
 (ميرحسين زاهدي)  »4« ةگزين -24

بعضي از صدمات (ناشي از) گردن باعث فقدان كامل حركت در زير «ترجمة جمله: 
  »شود. مي  ناحية آسيب

   ) عاطفه، احساس2  ) سخنراني، گفتار1
  (واژگان)  ت، تحرك) حرك4  ) بينايي، ديد3

 ----------------------------------------------  
 (جواد مؤمني)  »2« ةگزين -25

  »اين گوشت براي مصرف انسان، مناسب تشخيص داده شده است.«ترجمة جمله: 
  ) مصرف2  ) آشفتگي، سردرگمي1
  (واژگان)  ) اعطاء، پذيرش4  ) مفهوم3

------------------------------------------ ----  
 فرد) (اميد يعقوبي  »3« ةگزين -26

 هاي ديگر: تشريح گزينه
بعد  ،“فاعل + to be +صفت  + to +شكل سادة فعل ”با توجه به ساختار »: 1«گزينة 

، فعل بايد به صورت مصدر با »زده متحير، شگفت«به معني  ”astonished“از 
“to” كه  جايي آورده شود. از آن“artifact”  ساخته ستكالاي د«(به معني («

  بايد حرف تعريف نامعين قرار گيرد. ”such“مفرد و قابل شمارش است، بعد از 
احتياج  ”to be“صفت است و به فعل  ”astonished“در اين جمله »: 2«گزينة 
يا  ”and“گيرد. دو صفت تنها با  قبل از اسم يا عبارت اسمي قرار نمي ”so“دارد. 

  ند.توانند كنار هم قرار بگير كاما مي
آمده، رعايت نشده » 1«گزينة در اين جمله هم ساختاري كه در تشريح »: 4«گزينة 

به اشتباه به جاي صفت مفعولي  (”astonishing“)و هم صفت فاعلي 
(“astonished”)  روي دارندة اين » زده بودن شگفت«آمده است، چرا كه حالت

از اسم يا عبارت  قبل ”so“شناسان) صورت گرفته است. در ضمن،  صفت (باستان
  (ترتيب اجزاي جمله)  گيرد.             اسمي قرار نمي

 ----------------------------------------------  
  (مرجان شيخي)  »3« ةگزين -27

دهد،  درصد اتمسفر ما را تشكيل مي 78گاز نيتروژن كه حدوداً «ترجمة جمله: 
 »شود. مرتب توسط گياهان و حيوانات استفاده مي

  هاي ديگر: تشريح گزينه
بايد به صورت معلوم و  ”make up“با توجه به مفهوم جمله، فعل »: 1«گزينة 
  به صورت مجهول به كار رود. ”use“فعل 

 ,”it“)جمله از لحاظ ساختاري نادرست است، چون داراي دو فاعل »: 2«گزينة 
“nitrogen gas”) باشد. در ضمن، فعل  مي“make up” شد.بايد معلوم با  

جمله داراي دو فاعل است. جملة پيرو وصفي كه اسم قبل از ضمير »: 4«گزينة 
) قرار ”nitrogen gas“كند، بايد بلافاصله بعد از اسم ( موصولي را توصيف مي

  (ترتيب اجزاي جمله)    گيرد.  
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  (بهرام دستگيري)  »1« ةگزين -28
در وسط و غيره  ”how” ،“how many“پرسشي،  ”-wh“بعد از كلمات  :نكته

+ فعل + فاعل) خواهد بود. با توجه به  …جمله، ساختار جمله به صورت خبري (
  صحيح است.» 1«مفهوم جمله و ترتيب صحيح قرارگرفتن كلمات، گزينة 

  (ترتيب اجزاي جمله)          
 ----------------------------------------------  

  (سميه پيروز)  »4« ةگزين -29
» 4«هوم جمله و ترتيب صحيح قرار گرفتن كلمات، گزينة با توجه به مف :نكته

 (ترتيب اجزاي جمله)                            صحيح است.
 ----------------------------------------------  

  فرد) (اميد يعقوبي  »3« ةگزين -30
ر در اين سؤال اسم غير قابل شمارش است، بنابراين با فعل مفرد به كا ”wind“  :نكته
به  “فعل”ing + ، فعل به صورت اسم مصدر”by“رود. بعد از حروف اضافه از قبيل  مي

كند و بايد  اشاره مي ”grains of sand“رود. ضمير در انتهاي جمله به  كار مي
  (ترتيب اجزاي جمله)  باشد.  ”them“جمع 

 ----------------------------------------------  
 )91 - اً زبان(سراسري منحصر  »2«گزينة  -31

» پيچيدن (در پيچ خيابان/ جاده)«به معني  ”to turn the corner“عبارت  نكته:
  (مكالمه)   است.

 ----------------------------------------------  
 )91 - (سراسري منحصراً زبان  »2« ةگزين -32

  است.» نگاه مختصر كردن به«به معني  ”to take a glimpse of“عبارت  نكته:
  المه)(مك  

 ----------------------------------------------  
 )91 - (سراسري منحصراً زبان  »2« ةگزين -33

  ) شني2  ) شن پوش1
  (مكالمه)   ، تميز، ناب پاك) 4    ، موفق كامياب) 3

 ----------------------------------------------  
 )91 - (سراسري منحصراً زبان  »4« ةگزين -34

  ن، پيمودن، پخش شدن اداره كردن، دويد) 1
   رسيدن) 2
   ، دراز شدن ، كشيدن كردن  ي، طولان دراز كردن) 3

  (مكالمه)  گستردن ، دادن ، امتداد كشيدن) 4
 ----------------------------------------------  

 )91 - (سراسري منحصراً زبان  »2« ةگزين -35
   نگاه داشتن، بند آوردن ، ايستادن) 1
  ن، مسدود كردن بند آوردن، بست) 2
   چپاندن، فرو كردن، گنجاندن (با زور و فشار)) 3
  (مكالمه)  به پايان رساندن) 4

 ----------------------------------------------  
 (عبدالرشيد شفيعي)  »1« ةگزين -36

  ) خوشحال، مشعوف       2  ) ناخوش، مريض1
  (مكالمه)  ) خوشحال، اميدوار4  ) سالم، سلامت3

---------- ------------------------------------  
 (عبدالرشيد شفيعي)  »1« ةگزين -37

  ) دخل و خرج يكي بودن2  دست آوردن ) سرپا شدن، نيرو به1
  (مكالمه)  ) كسي را عصباني كردن4  ) عصباني شدن 3

 (عبدالرشيد شفيعي)  »2« ةگزين -38
  ) كسي را رساندن 2  ) به كسي رفتن، شبيه شدن     1
  (مكالمه)  ) به كسي خانه دادن4  دادن  ) به كسي مرخصي 3

 ----------------------------------------------  
 (عبدالرشيد شفيعي)  »1« ةگزين -39

  ) خود را به موش مردگي زدن     2  ) درد كشيدن1
  (مكالمه)  ) راه خود را پيدا كردن4  ) وان حمام را از آب پر كردن3

-------------------------------------- --------  
 (عبدالرشيد شفيعي)  »1« ةگزين -40

  ) كسي را كوچك كردن، تحقير كردن  2  ) درد را كم كردن 1
  (مكالمه)   وجود آوردن ) درد به4  ) به كسي زنگ زدن  3

 ---------------------------------------------- 

 (علي شكوهي)  »2« ةگزين -41
  طور جهاني ) به2  ) اساسا1ً
  (كلوزتست)   طور ملي ) به4  ينطور قابل جايگز ) به3

 ---------------------------------------------- 

 (علي شكوهي)  »1« ةگزين -42
  ) بالا بردن2  ) كاهش يافتن1
  (كلوزتست)   ) تصويب كردن4  ) اظهار كردن3

 ---------------------------------------------- 

 (علي شكوهي)  »4« ةگزين -43
  ) ذكركردن2  ) موعظه كردن1
  ) ذكر كردن4  ) موعظه كردن3

  باشند. نادرست مي» 3«و » 2«هاي  وجه جمله مجهول است، بنابراين گزينه :نكته
  (كلوزتست)  

 ---------------------------------------------- 

 (علي شكوهي)  »2« ةگزين -44
  ) زودرس2  ) مصنوعي1
  (كلوزتست)   اي ) حرفه4  ) آماتور3

 -------------------------- -------------------- 

 (علي شكوهي)  »3« ةگزين -45
  ) درك كردن2  ) انكار كردن1
  (كلوزتست)   ) معلق كردن4  ) تخمين زدن3

 ---------------------------------------------- 

 (علي شكوهي)  »3« ةگزين -46
  ) برطبق2  ) به جاي، درعوض1
 (كلوزتست)   رغم ) علي4  ) به دليل3

 ---------------------- ------------------------ 

 (علي شكوهي)  »1« ةگزين -47
  ) ناديده گرفتن2  ) تبليغ كردن1
  (كلوزتست)   ) قدغن كردن4  ) ممنوع كردن3

 ---------------------------------------------- 

 (علي شكوهي)  »1« ةگزين -48
  صورت ) در غير اين2  كه ) به دليل اين1
  (كلوزتست)   ) اگر4  كه منظوراين ) به3
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 (علي شكوهي)  »3« ةگزين -49
  ) سرنوشت2  ) ايمان، اعتقاد1
  (كلوزتست)   ) مقصد4  ) دسترسي3

 ---------------------------------------------- 

 (علي شكوهي)  »2« ةگزين -50
  ) فرد زير سن قانوني2  ) وزير1
  (كلوزتست)   ) آينه4  ) هيولا3

 ---------------------------------------------- 

 (علي شكوهي)  »1« ةگزين -51
  ) مدرك2  ) محصول1
 (كلوزتست)   ) سند، مدرك4  ) اخطار3

 ---------------------------------------------- 

 (علي شكوهي)  »4« ةگزين -52
  ) ماده2  ) ذخيره، جايگزين1
  (كلوزتست)   ) فرد، شخص4  ) وسيله، ابزار3

 ---------------------------------------------- 

 (علي شكوهي)  »1« ةگزين -53
  ) كنار2  ) پشت1
  (كلوزتست)   ) علاوه بر4  ) زير3

 ---------------------------------------------- 

 (علي شكوهي)  »3« ةگزين -54
  ) باورنكردني2  ) باورنكردني1
  (كلوزتست)   قيد و شرط ) بي4  ) دردسرساز3

 ---------------------------------------------- 

 ي شكوهي)(عل  »1« ةگزين -55
  بها ) ارزشمند، گران2  ) حاضر، موجود1
 (كلوزتست)   ) خصوصي4  بيني ) قابل پيش3

 ---------------------------------------------- 

 (جواد مؤمني)  »3« ةگزين -56
 anechoic“دانشمندان براي آزمايش مواد جاذب صدا، از «ترجمة جمله: 

rooms” مطلب) (درك   »كنند. يصدا) استفاده م هاي كاملاً بي (اتاق  
 ---------------------------------------------- 

 (جواد مؤمني)  »1« ةگزين -57
در اين متن صفحات حايل (صداگير) از مواد جاذب صداي قرار «ترجمة جمله: 

  مطلب) (درك   »شوند. گرفته در منافذ هوا ساخته مي
 ----------------------------------------------  

 (جواد مؤمني)  »2« ةگزين -58
كند كه  (عطر صدا) ثابت مي ”sound perfume“استفاده از »  ترجمة جمله:

  مطلب) (درك   »ها نگران مردم نيز هستند. معماران علاوه بر ساختمان
 ----------------------------------------------  

 (جواد مؤمني)  »2« ةگزين -59
  »كننده باشد. تواند ناراحت ميبراي اكثر مردم سكوت كامل «ترجمة جمله: 

  مطلب) (درك  

 (جواد مؤمني)  »3« ةگزين -60
كند كه وسايل علمي برخي اوقات بيش از حد  اين متن اشاره مي«ترجمة جمله: 
  مطلب) (درك   »موفق هستند.

 ----------------------------------------------  
  (مرجان شيخي)  »4« ةگزين -61

بودند كه در برابر تمامي موارد زير، به  اي محكم مي اندازه ها بايد به ستون«جمله: ترجمة 
  مطلب) (درك   »كردند. مواد مذاب، مقاومت مي جز

 ----------------------------------------------  
  (مرجان شيخي)  »2« ةگزين -62

  »برد؟ در پاراگراف سوم نام مي» زمين«به چه دليل نويسنده از (كلمة) «ترجمة جمله: 
  مطلب) (درك  »ها انگيز سيم أكيد بر طول حيرتبراي ت«

 ----------------------------------------------  
  (مرجان شيخي)  »4« ةگزين -63

از لحاظ معنايي به كلمة  ”commenced“، كلمة  پانزدهم در خط«ترجمة جمله: 
“began”  ترين است. كردن) نزديك (شروع شدن، شروع«   

  مطلب) (درك  
-------------- -------------------------------- 

  (مرجان شيخي)  »3« ةگزين -64
  »؟باشد نمييك از موارد زير اشتباه  با توجه به متن، كدام«ترجمة جمله: 

  مطلب) (درك   »تأثيرات پل بر محيط اطرافش در طراحي (پل) لحاظ شده بود.«
 ----------------------------------------------  

  شيخي)(مرجان   »1« ةگزين -65
  »به معني چيست؟ هجدهمدر خط  ”draining“ كلمة«جمله: ترجمة 

  »فرسا طاقت«
  مطلب) (درك  

 ----------------------------------------------  
 (جواد مؤمني)  »2« ةگزين -66

  »موضوع اصلي اين متن چيست؟«ترجمة جمله: 
  مطلب) (درك   »هاي مختلف آن فريب در دنياي هنر و روش«

---------- ------------------------------------  
 (جواد مؤمني)  »3« ةگزين -67

  »چيست؟ ”inpainting“معناي «ترجمة جمله: 
  مطلب) (درك   »مرمت يك نقاشي با توجه به طرح اصلي هنرمند«

 ----------------------------------------------  
 (جواد مؤمني)  »1« ةگزين -68

ها به سادگي  ام (قرن بيستم)، آمريكايي سيهاي بيستم و  در دهه«ترجمة جمله: 
  »هنري بودند.  ها فاقد دانش خوردند، زيرا آن توسط دلالان هنر اروپايي گول مي

  مطلب) (درك   
 ----------------------------------------------  

 (جواد مؤمني)  »4« ةگزين -69
(با  ”careful“در سطر اول از نظر معنايي به  ”cautious“كلمة«ترجمة جمله: 

  مطلب) (درك   »ترين است. دقت، دقيق) نزديك
 ----------------------------------------------  

 (جواد مؤمني)  »3« ةگزين -70
كه زير آن خط كشيده شده به نقاشي از يك منظرة  ”it“ضمير«ترجمة جمله: 

  مطلب) (درك   »كند. پسند اشاره مي مردم
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